
Q1) a) Fill in the blank with most appropriate alternative (Any 5) : [5]

i) _________ is an objective of marketing.

a) Profitable sales volume

b) Improve the quality of product

c) Product Development

d) None of the above

ii) Mass Marketing is ___________.

a) A strategy b) An Advertisement

c) Product life cycle d) None of the above

iii) Brand can be prepared through __________.

a) Logo b) Name

c) Sound d) All of the above

iv) ________ buy products & __________ use product.

a) Consumer & Customers b) Customers & consumer

c) Buyers & Sellers d) Buyers & customers
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v) Social Marketing concept is relating to ___________.

a) Production b) Customer Education

c) Society d) All of these

vi) _________ does not fall under the category of digital marketing.

a) TV b) Radio

c) Billboard d) All of the above

b) Match the following : [5]

i) Sales a) Environmental security

ii) Packaging b) Newspaper

iii) Pricing Method c) Marginal Cost pricing

iv) Type of Advertising d) Attracting cover

v) Green Marketing e) Product oriented
Approach

Q2) Write a short note (Any 2) : [10]

a) Scope of Marketing

b) 7 P’s of Marketing Mix

c) Green Marketing

d) Objective of pricing

Q3) a) Define Market. Explain the types of Market. [8]

b) Describe the environmental factors that affect the Marketing Mix. [7]

Q4) a) What is product life cycle? Explain the relevance of product life cycle.
[8]

b) Explain the recent trends in Marketing. [7]
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr 5) … [5]

i) .............. hm {dnUZmMm CÔoe Amho.

A) _moR>çm à_mUmda \$m`Xoera {dH«$s

~) CËnmXZmMr JwUdÎmm gwYmaUo

H$) dñVy {dH$mg

S>) darb n¡H$s H$mhrhr Zmhr

ii) _moR>çm à_mUmdarb {dnUZ ho ............... Amho.

A) YmoaU ~) Om{hamV

H$) dñVy OrdZMH«$ S>) darb n¡H$s H$mhrhr Zmhr

iii) ................. À`m gmhmæ`mZo ì`mnmar {MÝh V`ma Ho$bo OmVo.

A) bmoJmo ~) Zmd

H$) ÜdZr S>) darb gd©

iv) ................ dñVy IaoXr H$aVmV Am{U ............... dñV§yMm dmna H$aVmV.

A) Cn^moŠVm Am{U J«mhH$ ~) J«mhH$ Am{U Cn^moŠVm

H$) IaoXrXma Am{U {dH«o$Vm S>) IaoXrXma Am{U J«mhH$

v) gm_m{OH$ {dnUZ g§H$ënZm ................ er g§~§YrV Amho.

A) CËnmXZ ~) J«mhH$ {ejU

H$) g_mO S>) darbn¡H$s gd©
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vi) .................. ho "{S>OrQ>b {dnUZm_Ü`o g_m{dï> hmoV Zmhr.

A) Q>r.ìhr. ~) aoS>rAmo

H$) qH$_V \$bH$ S>) darb gd©

~) OmoS>çm bmdm … [5]

aH$mZm "A' aH$mZm "~'

i) {dH«$s A) n`m©daUr` gwajrVVm

ii) g§doð>Z ~) dV©_mUnÌ

iii) qH$_V nÕVr H$) {H$aH$moi IM© qH$_V

iv) Om{haVrMm àH$ma S>) AmH$f©H$ H$ìha

v) harV {dnUZ B©) CËnmXmZmYmarV Ñï>rH$moU

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm (H$moUË`mhr 2) … [10]

A) {dnUZmMr ì`már

~) {dnUZ {_lMo 7 nr

H$) harV {dnUZ

S>) qH$_V {ZpíMVrMo CÔoe

àíZ àíZ àíZ àíZ àíZ 3) A) ~mOmanoR> ì`m»`m Úm. ~mOmanoR>oMo àH$ma ñnï> H$am. [8]

~) {dnUZ {_lda narUm_ H$aUmao n`m©daUr` KQ>H$ ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) dñVy OrdZ MH«$ åhUOo H$m`? dñVyOrdZ MH«$mMr Amdí`H$Vm ñnï> H$am. [8]

~) {dnUZmVrb ZdrZ àdmh ñnï> H$am. [7]
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